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Warning: col ['FR'] missing
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’,
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3

BE | EFRRKG) | Es EA/H [KS] pEZ
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16:30 341 150.0 | FE| 71EH016:30 KAFZF (o MizEes)
21T 3410.0 (10%) 1500. 0 ZEWOHFGEC: 2080.0, PH: 6.5




FRV (ml plant-1)

ET (ml/hr/plant)

P3_0, Day=49 (2025-05-24)
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P3
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=it 6672.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.5

large discrepency for begining water status (510:297.0), set to 510 ml
FEERECE (2135.0 vs 3130.0) RS



P3_0, Day=48 (2025-05-23)
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BRIA S FRGERE220. 0 ml.
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23+15973.0 (11%) 1650. 0 32 8FFKEC: 2080.0, PH: 6.5

EORGEBRBT R IRAR B2 (543 vs 333.0))

PRIASERRIERE244. 0 ml.
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